2.A 520 bl S10 I:-:'Ils 85 bills an | bills are placed in a bag. If a ball is chosen at random,
what 1s the expected value for the amount chosen’
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{ 3. ?5 we discussed last class, fair games have payouts that match the odds agamst winning. For example, if you
on rolling a 3 on a die, the odds against rolling a 3 are 5 : 1. So 1if you bet 51, you should get your money



4. Ina game, you flip a coin twice and record the number of heads that occur. You get 10 points for 2 heads,
zero points for | head, and 5 points for no heads. What s the expected value for the number of points you'll
win per tum?

iy | @_{3_% 2% (N

5. There is an equally likely chance that a falling dart will land in any square on the rug below. The following
system is used to find the number of points the player wins. What is the expected value for the number of
points won?
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8. Integer Game: 2 players choose an integer from 1 to 5. If tfthe two integers is even, then Player
A scores 5 points and Player B loses 2 pomnts. If the product of thETws mtegers 15 odd, then Player B scores 5

points and Player A loses 2 points. Find the expected value of each player. oVea ,- :
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9. An airhine 15 considenng adding a route to the city of New Oreans, Lomisiana. Market research predicts that
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9. An airline 18 considering adding a route to the city of Mew Orleans, Louisiana. Market research predicts that
il the airline serves New Orleans, there is o 42% probability of making a $700,000 profit, a 22% probability of
breaking even, and a 36% probability of losing 51,000,000, What is the expected value of adding a route to

New Orleans” Pm’é_rl E.vaq (GC: (;
£v =042 §W0m0+p.22-30 + 436 --3] 00

10, A landscaper mows 25 lowns per doy Oty days and 15 lawns per day on cloudy days, [T the weather is
sunny 65% and cloudy 35% of the time, how many lawns can he expect 1o mow per day?
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11. You are playing a number cube game where vou need &) t= to win, On each tum you roll a pair of dice
(6-sided number cube). It vou roll doubles, your score is the product of the numbers. If vou do not roll doubles,
wlﬁ Flnd the expected value of each tum. How many turns will it take on average to
score 60 points? S
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12. You can @ local carnival and spin the spmnﬂ ot right. The spinner is dn-::lr.d into Hm
ronmdnrmnm | s
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12 You can fay $2 at’n local carnival and spin the spinner at right. The spinner is divided into  congruent
sections, The vl on which the spinner lands shows the dollar amount vou win. What is the expected value

for each time you play? Is the game fair? Would you play this game? Explain your decision,

Ex la. $0.50 {less than $1) b. $0.50 1. 81 2. $§5.90 4. 3.75 5. 24 6. +30.25 7. -52 B. A: 2.4% B: 0.52
9. -366,000 10. 21.5 11. 23.74 ~ 24 wms 12. $2.4375; Yes, because it is bigger than the price to play
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Ex 1 The table below shows how students at Byng generally get to school.

Bus, B E.?me Total
a) Complete the totals in the chart ™
b} How many students attend Lord Byng? Ew::u = IM\ - hq"z‘g
Reger ({1 aoo /| G7D|| 100 &)
| 26X Total 5‘51')&2??_;75 D
c) Use the numbers in the table to
determme: -‘l-"&&ﬂ:ﬂf glﬁﬂ fﬁ#w
i PR) ii. P{R ~ ) iii. P(C|R) iv. P:nme-ﬂ e u.'f:,_..- % "'31
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= Ysgy =2y = FH48L = 1333

d) if a student is chosen at random, determine the probability that they are:
i in Byng Arts ii. in Byng Arts and take the bus

iii. in Byng A ke the bus
g TG _ 7509 _ 75 b F 250 4400
" 00 1200 | 200
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2] Are the events “the student is in Byng Arts” and “the student takes the bus® independent
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Ex 2 During i weekend in Vancouver, there is a 65% chance it will rain and 35% chance |t will be dry

on each day. ther on each day Is independent:
a) Draw a tree diagram to show all possible outcomes for the weather during the weekend
‘5_‘5, -f'— 5\'_;#1.,—_4'51. o Al
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b) Use the tree diagram to determine the probability that: fufﬁ |" f {Ij Z —

- ﬁ sodl
i Itrains both days ii. it rains one day fii. it rains at least 1 day
| chcke

NI 2275t 2.7 | 42,25 4 22. .
= L{giga/b | " Iﬁ??%; 79
Ex 3 During a weekend in Vancouver, there |5E:_hﬁ'&e it wil}ﬁa anc

on Saturday. If it rains on rday, t ity it rains on Sunday incre fitis dry on
Saturday, the probability it rains on Sunday Is decreased by 15%.
a) Draw atree diagram to show all possible outcomes for the weather during the weekend

f‘:fﬂ_lr_ : i
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b) Use the tree diagram to determine the probability that: ’f[ﬁ M JI Ifm o

i. [trains both days ii. it rains one day jii. it rains at least 1 day
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